
A-57 P. T. O. 

CH–06 

Organic Chemistry 

¼dkcZfud jlk;u½ 

Bachelor of Science (BSC–12) CHEMISTRY 

Second Year, Examination, 2017 

Time : 3 Hours   Max. Marks : 30 

Note : This paper is of thirty (30) marks containing three 

(03) sections A, B, and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= rhl ¼30½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of seven and half 1
2

7  marks each. 

Learners are required to answer two (02) questions 

only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s lkr 1
2

7  vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. (a) Complete the following reactions and name the 

reaction :  

(i)                        6 5 3 3C H CO H, CHCl
  

(ii) 2H O
3 2 2CH CONH Br NaOH   

fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft;s vkSj vfHkfØ;k 

dk uke crkb;s % 

(i)                          6 5 3 3C H CO H, CHCl
  

(ii) 2H O
3 2 2CH CONH Br NaOH   

(b) Write explanatory note on any one of the 

following : 

(i) Wittig reaction  

(ii) Reimer-Tiemann reaction  

fuEufyf[kr eas ls fdlh ,d ij O;k[;kRed fVIi.kh 

fyf[k;s % 

(i) fofVx vfHkfØ;k  

(ii) jhej&Vkbeku vfHkfØ;k  

2. Write the mechanism of the following reactions : 

(i) Gatterman formylation of phenols  

(ii) Pinacol-Pinacolone rearrangement  

(iii) Hell-Volhard-Zelinsky reaction  

fuEufyf[kr vfHkfØ;kvksa dh fØ;kfof/k fyf[k;s % 

(i) fQukWy dk xSVjeSu QkWfeZys’ku  

(ii) fiukdksy&fiukdksyksu iqufoZU;kl 

(iii) gSy&okWygkMZ&tsfyUldh vfHkfØ;k  
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3. (a) Explain the following terms :  

(i) Chromophores  

(ii) Auxochromes  

fuEufyf[kr rF;ksa dh  O;k[;k dhft;s % 

(i) ØkseksQksj 

(ii) vkWDlksØkse 

(b) Explain mechanism of esterification and 

hydrolysis.  

,LVjhfQds’ku vkSj gkbMªksfyfll dh fØ;kfof/k 

le>kb;sA   

4. (a) Give two methods for the formation of an 

epoxide.  

bikWDlkbM cukus dh nks fof/k;k¡ nhft;sA  

(b) How are the following conversions brought  

about : 

(i) Phenol into salicyclic acid  

(ii) Salicyclic acid into aspirin   

(iii) Benzoic acid into benzaldehyde   

fuEu ifjorZu dSls fd, tkrs gSa % 

(i) fQuksy dk lSfylkbfyd vEy esa 

(ii) lSfylkbfyd vEy dk ,fLizfju esa 

(iii) csatksbd vEy dk csatfYMgkbM esa 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of two and half 1
2

2  marks each. 

Learners are required to answer four (04) questions 

only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, <kbZ 1
2

2  vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Illustrate the laws of absorption of electromagnetic 

radiations.  

fo|qrpqEcdh; fofdj.kksa ds vo’kks”k.k ds fu;e dks le>kb;sA  

2. Secondary amine is more basic in compare to primary 

and tertiary amine. Why ?  

f}rh;d ,ehu dh {kkjh;rk] izkFkfed vkSj r`rh;d ,ehu ls 

vf/kd gksrh gSA D;ksa \ 

3. Write mechanism of diazocoupling reaction.  

Mkb,tksdifyax vfHkfØ;k dh fØ;kfof/k fyf[k;sA  

4. Complete the following reactions :  

(i) 
Red P

3 2 2CH CH COOH Br ?   

(ii) 
Dry distillation

3 2(CH COO) Ca ?   

(iii) 3 2CH OH SOCl ?   

(iv) 4Pd/BaSO
6 5 2C H COCl H   
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fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft;s % 

(i) 
Red P

3 2 2CH CH COOH Br ?   

(ii) 
Dry distillation

3 2(CH COO) Ca ?   

(iii) 3 2CH OH SOCl ?   

(iv) 4Pd/BaSO
6 5 2C H COCl H   

5. Arrange the following compounds in decreasing order 

of acidity :  

3CF COOH,  3CCl COOH , 3CBr COOH,  3CH COOH    

fuEufyf[kr ;kSfxdksa dks vEyh;rk ds ?kVrs Øe eas  jf[k, % 

3CF COOH,  3CCl COOH ] 3CBr COOH,  3CH COOH    

6. Write a note on Baeyer-Villeger oxidation of Ketones.  

dhVkuksa ds ck;j&foyhtj vkWDlhdj.k ij ,d fVIIk.kh 

fyf[k;sA  

7. Explain why formaldehyde is more reactive than 

acetaldehyde towards nucleophilic substitution 

reactions.  

le>kb;s fd D;ksa ukfHkdLusgh ;ksxkRed vfHkfØ;kvksa ds izfr 

QkWesZfYMgkbM] ,lhVsfYMgkbM ls T;knk fØ;k’khy gksrk gSA  

8. Complete the following reaction and name the 

reaction : 
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fuEufyf[kr vfHkfØ;k dks iw.kZ dhft;s vkSj mldk uke Hkh 

nhft;s % 

 

 

 

 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of half 1
2

 mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk 1
2

 vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft;s % 

1. Tollen‘s reagent is a solution of ......... in ........ 

VkWySu vfHkdeZd 
-------------

 dk 
------------

 eas foy;u gSA  

2. Ziesel method is used to estimate ............ groups.  

thly fof/k 
---------------

 lewg ds vkdyu gsrq iz;qDr gksrk gSA  
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3. Phenol reacts with excess of bromine water to give ...... 

QhukWy czksehu ty dh vf/kdrk ds lkFk fØ;k djus ij 

-------------
 nsrk gSA 

4. For identification of functional groups in organic 

compounds ............ spectroscopy is used.  

dkcZfud ;kSfxd eas fØ;kRed lewgksa dh igpku ds fy;s 

-----------
 LisDVªksLdkWih dk mi;ksx fd;k tkrk gSA  

5. In IR spectroscopy the region from 1300 1cm  to  

667 1cm  is known as ........... region.   

IR LisDVªksLdkWih esa 1300 lseh
&1
 ls 667 lseh

&1
 {ks= dks 

dgrs gSa ----------- {ks=A 

Choose the correct answer of the following  : 

fuEufyf[kr eas ls lgh mŸkj nhft;s % 

6. Which of the following has higher UV maximum 

max( )  ? 

2 3CH CH CH CH CH   

2 2 2CH CH CH CH CH   

fuEufyf[kr eas ls dkSu&ls ;kSfxd dh ijkcSaxuh vo’kks”k.k 

vf/kdrk max( )  vf/kd gS \ 

2 3CH CH CH CH CH   

2 2 2CH CH CH CH CH   

7. Lucas reagent is used to distinguish : 

(a) Ether  (b) Amine  

(c) Alcohol (d) Acid  
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Y;wdkl vfHkdeZd fdldks foHksn djus eas dke vkrk gS \ 

¼v½ bZFkj ¼c½ vehu 

¼l½ ,sYdksgkWy ¼n½ vEy 

8. Which of the following is most acidic ? 

(a) Phenol  (b) Ethanol  

(c) 2H O   (d) Picric acid  

fuEufyf[kr eas ls dkSu lcls vf/kd vEyh; gS \ 

¼v½ QhukWy ¼c½ ,FksukWy 

¼l½ 2H O   ¼n½ fidfjd vEy 

9. Benzene diazonium chloride with ethyl alcohol gives :  

(a) Phenol  (b) Benzoic acid  

(c) Benzene  (d) Benzyl alcohol  

csUthu Mkb,tksfu;e DyksjkbM ,fFky ,YdksgkWy ds lkFk 

nsrk gS % 

¼v½ QhukWy ¼c½ csUtksbd vEy 

¼l½ csUthu ¼n½ csUtkby ,YdksgkWy 

10. Number of pi bonds present in naphthalein :  

(a) 4 (b) 3 

(c) 5 (d) 6 

uS¶FkSyhu eas ikbZ cU/k gksrs gSa % 

¼v½ 4 ¼c½ 3 

¼l½ 5 ¼n½ 6 
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